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V| oA v V| v V [mA| AlmAal A |mA| A |ka| V kW | w
|
25000 (1500 | — 600 | 300 | 20 ‘ 20 | 8 \ 8 ‘ s | 5 |1 400
rMu-89 CcccPl 1125139 28000 | 1750 350 maximum (S=22mA|V; Py = 6 W; Py, = 12 W) 100
33000 [1750 | — 600 | 300 | 40 | 40 |115] 11510 | 10 |o725] | 1170
TMH-90 CccP| 2 12578 { 36000 | 2000 350 " maximum (S=4#4mA[V; P, =5W; Py =20 W) 120
P 5351 E STCE | 3 | 262 15000 |1250 | —1000 | 250 | 30 | 15 s maximum (P =8W) 60
P 5521 E STCE | 3 | 262 20000 [1250 | —1000 | 250 | 30 | 15 s maximum (P, =8W) 60
15800 (1250 | — 600 | 250 | 14 | 14 | 4 4 | 1a] 14 15000 | 210
Qv20P18 |Mu | 3 |26|225| {20000 |[1250| — 600 250 |16 |16 | 3 | 3 | 14| 11|12 | 19000 | 305
20000 | 1500 | —1000 | 300 18 maximum (P =3W; Py =8W) 60
12000 [1200 | — 650 | 246 | 108 108! 1,5 10800 | 116
15000 (1200 | — 700 | 269 | 13 | 13 | 11 13000 | 169
17500 | 800 | — 600 | 240 | 12,8 128] 02 12800 | 164
SRS 454 RFT | 3 1271 215| 147500 (1200 | — 800 | 273 | 15 | 15 | 1 ‘ 15000 | 225
400 | 200 | (stat) 100 § =115 MAIV; piga/en) = 5.5
17500 | 1300 —1000 maximum (P, =3W; P, =8W) 60
| ! | | I I | | I

Equivalents

p p c C 1111 EEV = QV 20-P 18 | PSN 1 Maz = P 55211 E
T &1 a gl/a rMu-83 CCCP = QV20P18 | 4PR60 A Eim = QV 20-P 18
: r-483 CCCP = QV20P18 | 5D 2 amer = P 5521 E
PP | PF | pF r-489 CCCP — T'MU-89 715 B Ray — P 5351 E
r-490 CCCP = T'MU-90 715 C amer = P 552/1 E
rMu-83 50 |10 5
rM11-89 60 |12 6
rMU-90 10 | 16 10 4
P 53511 E 35 7 1,2 1 3 A
P 552/1 E 35 7 1,3 6 FK 5, 6,
QV 20-P 18 43 9 0,3
SRS 454 45 |13 2,5 FKy
715 C 375 | 751 2
F 6, p A F Fx

rMu-89 rMu-90 Qv20-pP18
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